8 7 6 5 ‘@ 4 3 2 !

BOM Table
N ITEM NO.|PART NUMBER  |Rev. Description Material Color QTY.
1 SG-16B-02 - BASE PC LIGHT GRAY | 1
2 SG-16C-02 -.01 COVER PC LIGHT GRAY | 1
3 SG-KIT-03 - HARDWARE KIT 1
3.1 SCREWS-19 - | M3.85x1.8 SPAX X 44mm LG, PAN HEAD, PHILLIPS | 304 SST 6
3.2 SCREWS-22 - | M3.85x1.8 SPAX X 9mm LG, PAN HEAD, PHILLIPS [QSt36-3 4
3.3 SG-975 - RETAINER STRAP PA6 GRAY 2
(11.890) a
\
B o B PART NUMBER: SG-16-02
- \4.331) ~ FLAME RATING: 5VA per UL50/UL746C
: A?‘
7
4
’
4
7
7
i
UNLESS OTHER WISE SPCEQQIED:] PART NO.
DIMENSIONS ARE IN: NCHES[mml G B (Y\A |
TOLERANCES: ANGULAR: £2
e wateea POIYCUSE
PRINTED GRAPHICS: +.010 SEE BOM O OH 0N 103 A
e NromATon contaneo s FLAME RATING SIZE REV
POLYCASE. ANY REPRODUCTON I paRr | SEE BOM -.01
OR AS A WHOLE WITHOUT THE WRITTEN NAME DATE °
SECTION B-B CZEI;er:Llé:sgi?FPOLYCAsmsPROHmnED. CDHREA(\:VIZEID E'\I\//\\g 89//285//22001]55 S‘CALEI ]:]q @% ‘ SHEET 1 OF 2
1

8 7 6 5 4 4 3 | 2



PART NUMBER: SG-16-03

FLAME RATING: 5VA per UL50/UL746C

3 2 1
BOM Table
ITEM NO.|PART NUMBER|Rev. Description Material Color QTY.
1 SG-16B-02 - BASE PC LIGHT GRAY | 1
2 SG-16C-03 -.01 COVER PC CLEAR 1
3 SG-KIT-03 - HARDWARE KIT 1
3] SCREWS-19 | - M3.85x1.8 SPAX %(Fﬂﬁm)r? LG, PAN HEAD, 304 SST 6
3.9 SCREWS-22 | - M3.85x1.8 SPAXPXH?LrBFr)T% LG, PAN HEAD, QS136-3 4
3.3 SG-97S - RETAINER STRAP PA6 GRAY 2

UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN: INCHES [mm]
TOLERANCES: ANGULAR: +2° SEE BOM

TWO PLACE DECIMAL: #- MATERIAL

THREE PLACE DECIMAL: +-
PRINTED GRAPHICS: .010 SEE BOM

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS FLAME RAT'NG SlZE
DRAWING IS THE SOLE PROPERTY OF SEE BOM C

POLYCASE. ANY REPRODUCTION IN PART
OR AS A WHOLE WITHOUT THE WRITTEN NAME DATE

PERMISSION OF POLYCASE IS PROHIBITED. DRAWN D.M.F.  8/25/2015 1.
BMB.  9/8/2015 SCALE 1:1.5

CAD FILE: SG-16 CHECKED

2

1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 US.A.

PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088

REV

-.01

SHEET 2 OF 2




[

I
é
7
%.
.
.
g

SECTION A-A

.039

r.”8

A

b 25x 276

¢

3.110

- 9.134

~ 7.805 -

25X @ .134

25X ©.302

PART NUMBER: SG-16B-02
COLOR: LIGHT GRAY

2

1

C
A 6.693 10.734 11.339
2X .738 543 10.039 10.846
2
N
(@)
2
©
O
w
[a)
B
|
Y
Y '
Y
— 3.150 -—
A
5.118
~ 7.349 -
- 7.795 = e ECre TTPART NO.
N mm
- 7.874 - ToumANCES U | 9G] 6B-02 po cqase
= [MATERIAL
- 8.845 = i Guencs 00| PC T R
THE INFORMATION conTaned INTHS | FLAME RATING SIZE BASE REV
DRAWING IS THE SOLE PROPERTY OF _
POLYCASE. ANY REPRODUCTION IN PART NAME DATE D -
REV] DESCRIPTION [ZONE[_BY JAPPRD] _DATE | seauission of roLrcase s bronned, | DRAWN | DM.F. |8/18/2075 —
‘REVISIONS CAD FILE: SG-168 CHECKED | B.M.B. | 9/2/2015 SCALE: 1:1 | @-G | SHEET 1 OF 1



181

!
L.051 L.H8 L—138

///I//////V//

PART NUMBER: SG-16C-03
COLOR: CLEAR

SECTION A-A
PART NUMBER: SG-16C-02

COLOR: LIGHT GRAY

1.181 299 — 9.134

- 8.071 -

11.890
10.827 .

REV

-.01

SG-16C

“ D

POLYURETHANE GASKET
4X R.118
UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN: INCHES[mm]
TOLERANCES: ANGULAR: +2° SG-16C
TWO PLACE DECIMAL: #- MATER|AL
THREE PLACE DECIMAL: £-
o R D L PC T 30048 1235 440 95 0HAd FAYE 40950088
THE INFORMATION CONTANED N THS | FLAME RATING SIZE REV
DRAWING IS THE SOLE PROPERTY OF | _ 0
POLYCASE. ANY REPRODUCTION IN PART - 1
OR AS A WHOLE WITHOUT THE WRITTEN S‘AMME o/ ]%A/;%] s °
PERMISSION OF POLYCASE IS PROHIBITED. | DRAWN .M.F. ..
D AESG TR GiecieD Bas. | 9ia0ts SCALE:1:1 (= | SHEET1OF]1
6 5 ZTA 4 3 2 1



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View6
	Section View B-B
	Drawing View13

	Sheet2
	Drawing View10
	Drawing View14

	SG-16B.pdf
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Section View A-A


	SG-16C.pdf
	Sheet1
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Section View A-A



